
Stage	
  12	
  Verb	
  Quiz	
  Answer	
  Key	
  

Fill	
  in	
  the	
  missing	
  forms	
  of	
  labōrat:labōrāvit:	
  

Present:	
  

	
   Singular	
   Plural	
  

First	
  Person	
   labōrō	
   labōrāmus	
  

Second	
  Person	
   labōrās	
   labōrātis	
  

Third	
  Person	
   labōrat	
   labōrant	
  

	
  

Imperfect:	
  

	
   Singular	
   Plural	
  

First	
  Person	
   labōrābam	
   labōrābāmus	
  

Second	
  Person	
   labōrābās	
   labōrābātis	
  

Third	
  Person	
   labōrābat	
   labōrābant	
  

	
  

Perfect:	
  

	
   Singular	
   Plural	
  

First	
  Person	
   labōrāvī	
   labōrāvimus	
  

Second	
  Person	
   labōrāvistī	
   labōrāvistis	
  

Third	
  Person	
   labōrāvit	
   labōrāvērunt	
  

	
  

	
   	
  



Fill	
  in	
  the	
  missing	
  forms	
  of	
  the	
  verb	
  "to	
  be":	
  

Present	
  

	
   Singular	
   Plural	
  

First	
  Person	
   sum	
   sumus	
  

Second	
  Person	
   es	
   estis	
  

Third	
  Person	
   est	
   sunt	
  

	
  

Imperfect:	
  

	
   Singular	
   Plural	
  

First	
  Person	
   eram	
   erāmus	
  

Second	
  Person	
   erās	
   erātis	
  

Third	
  Person	
   erat	
   erant	
  

	
  

	
  


